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Density
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You may use tracing paper if needed

Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

L

Guidance

1. Read each question carefully before you begin answering it.

2. Don't spend too long on one question.
3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings
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A piece of wood has a mass of 8g and a volume of 10cms3.
Work out the density of the wood.

2 What is the volume of a piece of metal that has a mass of 300g and density

B8 of 6g/cm3?
A
),

3. A piece of plastic has a density of 1.\’5%:/m3 and a volume of 100cm3.
Work out the mass of the piece of plastic.

M3 0 x V=
[-3%x 100
3
_______ 120 4
(2
4. Iron has a density of 7.8g/cm3.
% A solid iron statue has a mass of 877.5g.
= Work out the volume of the statue.
Vi 8F7.5
¥ 2 == s
) 2 4
...... //‘2 S ...cm?3
(2
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5. A solid silver spoon has a mass of 65.1g.
=4 ~ The volume of the spoon is 6.2cm3.
Calculate the density of silver.

Mo kst

P
" b
0.5
l ............... g/lcm?
(2)
6. A glass cube of side length 5cm has a mass of 306.25g.
Calculate the density of the glass.
v V=135 Sx5%E”
Vo'l 20b-d5
—_— ERm——— )
v~ s . 2...L.'L.§iglcm3
(3)
y A liquid has mass of 10kg and a density of 1.18g/cm3.
% Calculate the volume of the liquid.
, Include suitable units. m o)
' _ 1000
/V?: IO 0003 /&\’ = '-,-—""\2— = gé?ﬁ'j?écm
g

oL‘" ,.,;5‘3/0.4’5

8. A garden ornament has a volume of 0.05ms.

=® ~ The ornament is made from a stone that has a density of 6.4g/cm3. 3

&1 Calculate the mass of the ornament. I 3= oo go00cm
Include suitable units. .

Jxv—
g.(,x S$0000 = 320 0003
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9. The mass of 3m? of tin is 21840kg.

(a) Work out the density of tin.

M 731 uokg
-./ -_/____;
V" Lm
:Z;g ....... kg/m3
m e (2)

The density of aluminium is 2712kg/m3. X 5 =~ 135740 {13

(b) Work out the difference in mass between 5m3 of tin and 5m?2 of aluminium.

ﬂ’uﬂi\-n‘m\ 13 560[3

.................... kg
3
10.  Mr.Dixon is building a toy boat for his son.
He has three different planks of wood to choose from.
Plank A Plank B Plank C
Volume = 7’500m‘3 Volume = O.O152m3 Volume = 1D(J0cn13
Mass = 900g Mass = 7.6kg Mass = 1.02kg
If wood has a density under 1g/cm3, it will float.
Which plank of wood is the most suitable?
Explain your answer.
j= L
\r‘
070 =).014fim’
3 =|.0 7.4
00 afar FHOO . n = (j
- zﬂ s, 1000
760 Isz00
Plank ......%. ... ..
@)
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11.  The diagram below shows a solid block of ice.

3
817 = 53144 WY
2 053y ns

81cm
A block of ice weighs ' tonne. 5 001(;9
The block is a cube with side length 81cm. 500
—_—
0-S3hy ¢

Find the density of the ice.
Give your answer in kilograms per cubic metre.

.................... kg/ms?
(3)
12, The diagram shows a solid cylinder.
V> TTr L
: 5 A
: 15e¢m - ﬂ[f X s
; 3
= £53. ‘?5.. e
8c'n'-'\“
The cylinder is made from titanium.
The density of titanium is 4.43g/cm? M= D XV
Calculate the mass of the cylinder.
L. x P53 ..
3340
.................... g
(3)
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18.  The diagram shows a solid triangular prism.

¥

8cm

- X
6cm

The prism is made from wood and has a mass of 643.8g
The density of wood is 1.85g/cm?3

Calculate the length of the prism.

: e
A5 SRV
D) (-85

7\{})(‘1:'5@5/

—
14, Material A has a density of 5.8g/cm?. 65 em

Material B has a density of 4.1g/cm3. G400 cm 3

377g of Material A and 1.64kg of Material B form Material C.

Work out the density of Material C.

\/-Oluﬂﬂ OP A Vo lume mfﬁ,

k)
7 L 142 = 400 em
?_52:_? - ég\w q‘/

o,
p“r

(3?? '}‘ /54‘0) ------------------- g/cg:;

e,

[ 65 1 koo)
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15. The diagram shows a solid glass paperweight.

6 7z

cm ,

. _ . s [ % XTTX%
The paperweight is a hemisphere with diameter 6cm.

The glass has a density of 3g/cm?. > S6-56 g e M

Calculate the mass of the paperweight.

Mz DX
=3 KSE-548- -

= /69045

.................... g
4)
16. A solid metal sphere has a radius of 4cm, correct to the nearest centimetre.
Mass of the sphere is 720:?3‘ correct to two significant figures.
Work out the greatest possible density of the metal.
Give your answer to three significant figures.
Mmoo T 77
) 2 e
Vo] |74 59438
i)
V\: _Lt X35
>
3 o 3
s = )FD.696..¢
.................... glcm3
()
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17.  The diagram below shows a solid cone.

B
U SR

ek (32) X 4

e -;xn”qul)( 4x

The cone is made from a material with density 5g/cm3.

[B]

LuT % 361"

Write an expression for the mass of the cone, in terms of x.

M 2 0)( v o 2 1271,1?I
3
m: S K 1274
- 607L"
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